DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

15 1999.8 =6 = 16665940 + 7 =
152) 9234 =~ 6 = 167 109.78 + 2 =
153) 0475 =~ 1 = 168) 16.23 1=
151 —797.9 29 — 169) 19.845 =9 =
155) —3721.5 =~ 5 = 170) —482.24 - 8 =
1560 6652.1 =7 = 429+ 1=
157 119.8 +4 = 172 —06111 +9 =
158) 287.4 = 3 = 173) 72.512 =8 =
159) —2681.4 =6 = ) 5.004+1=
160) 513 = 10 = 175) 34.49 = 10 =
161) —989] = 7 = 176) 52.857 =9 =
1620 49.875 =~ 7 = 177 —12.784 =+ 4 =
163) —4882 = 1 = 178) 3.641 -1 =
16) 39780 = 5 = 179) —H22.4 =4 =
165) —34.92 =~ 6 = 180)  199.28 = 8 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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